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Which- one of the

statements is not correct ?

(1) The Marginal Propensity to
Consume is higher in case of
poor than in that of rich people.

(2) Marginal Propensity to Consume
is the consumption per unit of
income.

(3) The Marginal Propensity to
Consume is always positive but
less than one.

(4) In underdeveloped countries,
the Marginal Propensity to
Consume tends to be high,
whereas in advanced countries
it tends to be low.

(5) Question not attempted

following

Consider the following statements
and select the correct answer using
the given codes :

Statement | : The ratio of Real Gross
Domestic Product to Nominal
Gross Domestic Product gives
us an idea of how the prices
have moved from the base year
to the current year.

Statement Il : The ratio of Real
Gross Domestic Product to
Nominal Gross Domestic
Product is called GDP deflator.

Codes :

(1) Statement ‘1" is true, but
statement ‘Il is false.
(2) Statement ‘I’ is false, but

statement ‘Il is true.

(3) Both statements ‘I' and ‘II' are
true.

(4) Both statements ‘I' and ‘II' are
false.

(5) Question not attempted

01



3.

01

ST et % g wrE fmfor & fawa &

ﬁmmﬁmwa‘\ﬁq:

(A) =T St & ford =mam durfe
TR HTRIETT FTTAHAT i HH Hish,
Frr ¥ 2w # gr@ et emar 5
T2 |

(B) I < 39 TEeh! Y THG! H A
F dqe F@ % oy s T
Sfera wd &, at 98 Soi I @
o g R ST R |

C) Afg St el = gr fed T wom I
s w2 fewm e % w9 ° fae
St 2, a1 Y @i @R fmio
AT HH BN |

ITRNF A YRR T S ?

(1) aet (A) 3R (B) T&I £ |

(2) et (B) 3R (C) &1 2 |

(3) FH(A) IR C) TRl

(4) (A), (B) 3R (C) Wl € | E-E'.:fz'té

(5) g 5

Tt %t FHivd e & e i T d a .

H/AFIATIR/E ?

(A) €eft TET 9Tt BT 95 % 7EF foeg W
SH9d T T & SUEL g |

(B) Eeft Y@ At wiT 9% W wed fag %
SR M a7 Fepelt ot g o shima
A 3hTS © HH BNl |

(C) Heh Y@ 1=t Wit 9% W A fog %
2 o I foret oft fog W hima
e 3RS O AT B |

(1) Faet (A)TAZ |

(2) e (B) 3R (C) T & |

(3) Fael (A) 3N (B) T F |

(4) (A), (B)3MR (C) =iz |

) ST T

W) i unseimes mnmmies e s T e 28 (R i i

Consider the following statements
about credit creation by commercial
banks :

(A) By lowering the minimum legal
cash reserves requirements for
commercial banks, the central
bank expands the capacity to
create credit in the country.

(B) If banks keep excess cash
reserves to satisfy the demand
for cash of their customers, it will
increase the credit creation
capacity of banks.

(C) If the public withdraw a Iarge
part of the loans advanced by
the banks in the form of cash, it
will decrease the credit creation
capacity of banks.

Which of the above statements are

correct ?

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.

(3) Only (A) and (C) are correct.

(4) (A), (B)and (C) are correct.

(5) Question not attempted

Which of the following statement/s

.is/are true about the price elasticity

of demand ?

(A) At the middle point of the

straight line demand curve, price
elasticity will be equal to one.

(B) Any point which lies above the
middle point on the straight line
demand curve, price elasticity
will be less than unity.

(C) Any point which lies below the
middle point on the straight line
demand curve, price elasticity
will be greater than unity.

(1) Only (A) is true.

(2) Only (B) and (C) are true.

(3) Only (A) and (B) are true.

(4) (A), (B)and (C) all are true.

(5) Question not attempted =
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Consider the following statements

about the concept of inflationary gap :

(A) The concept has been
propounded by Keynes.

(B) It arises when the consumption
and investment spending together
are greater than the full employ-
ment gross national product level.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

(5) Question not attempted

Consider the following statements

regarding median :

(A) Extreme values affect the median.

(B) It is a positional average. It's
value is not determined by each
and every observation.

Which of the above statement/s

is/are correct ?

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Neither (A) nor (B) is correct.

(5) Question not attempted

Consider the following statements
and select the correct answer using
the codes given below :

Statement | : An increase in income
causes an outward shift of the
indifference curve.

Statement |l : A point at which the
Marginal Rate of Substitution is
greater than price ratio cannot
be the optimum point.

Codes :

(1) Statement ‘1’ is true, but
statement ‘I’ is false.

(2) Statement ‘1" is false, but

statement ‘II' is true.
(3) Both statements ‘' and ‘II’ are true
(4) Both statements ‘" and ‘II" are false.
(5) Question not attempted
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Consider the following statements

regarding Budget Deficit and select

the correct answer using codes
given below :

(A) The Government make
borrowings generally with a view
to finance their budget deficits.

(B) Borrowing from public to finance
budget deficit is, in effect, simply
a transfer of purchasing power

from the public to the
Government.
Codes :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

Read the following Assertion (A) and

Reason (R) and choose the correct

option using codes given below :

Assertion (A) : The market supply
curve is derived for a fixed
number of firms in the market.

Reason (R) : Market supply curve is
obtained by taking a horizontal
summation of the individual
supply curves of the firms.

Codes :

(1) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

(5) Question not attempted
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11.

12.

only expected to keep 25 percent of
its deposits as reserves, then with
primary deposits of ¥ 200, the value
of total created deposits will be
equal to :

(1) ¥500

(2) T 300

(3) T 800

(4) 700

(5) Question not attempted

If mean of 25, 29, 25. 32, 24 and X is

27, then what will be the value of
median ?

(1) 32

(2) 27

(3) 26

(4) 25

(5) Question not attempted

Consider the following statements

about individual’s demand curve and

select correct answer using codes

given below : ;

(A) When any of the ceteris paribus
condition changes, there is a

movement along the same
demand curve.
(B) The change in quantity

demanded means shifts in entire
demand curve.

Codes :

(1) Only (A) is correct.

(2) Only (B)is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

(5) Question not attempted

01




13.

14.

15.

01

Hfer s 6 ag-emem T gEew H
st Reé 2023 % FER, < & SHEEAT
et 319uTa 2015-16 H 24.85 wfawrd &
T 2019-21 H feha1 81 T ?

(1) 12.96 g (2) 21.96 wfewra

(3) 14.96 ufawr@  (4) 18.96 Wiawa
(5) I SR

... i seaw fod 2023-24 %
IER, WG TR & HfRgd Tq@
A /98l § ¥ I 91 9dd o™
e (W.ESh.) 2 - I 3 9 gl
EER

(1) SumEE e guer e ﬁ"':*

(2) Teram hfge #1E

(3) €F W FE AN - TEE
Trefor SrrsfifeesT e

(4) wuTEE B ST FiSET

(5) g

A farehra g % AR % a1 A

iR o s ot Adi g 7

(1) W€ HEATE ¢HTS HIHE {8 gohie
% PRV IS E |

(2) 98 5 WM Hehash! I Th IF
I ¢ |

(3) vgelt AMa fawm foé 1990 #
eI g8 ot |

(4) Ta Ty gEH & TIH AW
HI9ee 0 31 F g F a & &9
o =yerd fepam ST B |

(5) rgaRd y=

13.

14.

15.

As per multi-dimensional poverty
index progress report 2023 of NITI
Aayog, the headcount poverty ratio
in the country declined from 24.85
percent in 2015-16 to how much in
2019-21 7

(1) 12.96 percent (2) 21.96 percent
(3) 14.96 percent (4) 18.96 percent
(5) Question not attempted

Which of the following key
programmes/initiatives of Government
of India is not related to Sustainable
Development Goals (SDG) 2 : Zero
Hunger, as per the SDG India Index
Report 2023-24 ?

(1) PM Kisan Sampada Yojana
(2) Kisan Credit Card

(3) Deen Dayal Antyodaya Yojana —

- National Rural Livelihood
Mission

(4) PM Fasal Bima Yojana

(5) Question not attempted

Which of the following is not correct

about invention of Human
Development Index ?
(1) Lord Meghnad Desai is

associated with the invention of
HDI.

(2) It is a composite index of 5
social indicators.

(3) The first Human Development
Report was published in 1990.

(4) The performance of each
dimension of HDI is expressed
as a value between 0 and 1.

(5) Question not attempted
a
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16. Green GDP is calculated by

17

(1) Adding environmental degradation
costs to traditional GDP.

(2) Subtracting cost of
environmental degradation and
depletion of natural resources
from traditional GDP.

(3) Only considering the positive
environmental impacts.

(4) Adding all positive aspects
related to  environment
upgradation.

(8) Question not attempted

Consider the following statements
and find which statements are
incorrect :

(A) To provide various employment
related services to the youth of
the country on a single platform,
Government of India has
launched My Bharat Portal.

(B) The official data source on
employment and unemployment
is Periodic Labour Force Survey
(PLFS).

(C) Periodic Labour Force Survey is
conducted by the Ministry of
Statistics and Programme
Implementation since 2015-16.

Select the correct answer using

codes given below :

Codes :

(1) Only (A) and (B) are incorrect.

(2) Only (B) and (C) are incorrect.

(3) Only (A) and (C) are incorrect.

(4) (A), (B) and (C) all are incorrect. °

(5) Question not attempted
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19.

Consider the following statements.in
the context of Michael Oakeshott :

(i) He is in favour of conservatism,
traditionalism and uniformity and
continuity in behaviour in politics.
He looks at new values, value-
based facts and new trends with
a skeptical view.

(iii) He tries to carry forward the

value-based tradition in politics.

Select the correct answer using the

codes. e
o

Codes :

(1) Only (i) is correct.

(2) Only (i) and (iii) are correct.
(3) Only (ii) and (iii) are correct.
(4) (i), (ii) and (iii) all are correct.
(5) Question not attempted

(ii)

Consider the following statements of
Leo Strauss about Political Theory :
(). Leo Strauss reaffirms the
importance of classical political
theory to remedying the crisis of
the modern times.

Strauss does not agree with the
proposition that all political
theory is ideological in nature
mirroring a given  socio-
economic interest, for most
political thinkers are motivated
by the possibility of discerning
the principles of the right order
in social existence.

Choose the correct answer :

(1) Only (I) is correct.

(2) Only (11) is correct.

(3) Both (l) and (ll) are correct.

(4) Neither (1) nor (I1) is correct.

(5) Question not attempted

(1)

1765485
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20.

21.

22,

Consider the following statements

regarding the state :
State is a form of universal
altruism.

ll. State is a concrete form of
absolute consciousness.

lll. State is an End-in-itself.

IV. State is the coherent whole of
rights, freedom and welfare.
Which of the above statements are
closely associated with Hegal ?

(1 LiLbMandIV .
(2) Onlyl, Il and Il
(3) Onlyl, lland IV

~ (4) Onlylandlll

(5) Question not attempted

Consider the following statements
regarding sovereignty of Jean Bodin :
(i) Jean Bodin’s basic thesis is that
a central authority should wield
unlimited power.

Jean Bodin advocated a
centralized authority to steer
France away from ‘disorder’.
Jean Bodin accepted that the
laws of God and nature on the
one hand, and the customary
laws of the land on the other,
would limit the sovereign.

Select the correct answer using the
codes.

Codes :

(1) Only (i) and (ii) are correct.

(2) Only (i) and (iii) are correct.

(3) Only (iii) is correct.

(4) (i), (ii) and (iii) all are correct.

(5) Question not attempted

(ii)

(iii)

Who among the following scholars
has developed the ‘Critical discourse
analysis’, aims to balance linguistic
analysis with the analysis of power
and politics ?

(1) Richard Rorty

(2) Norman Fairclough

(3) Carl Schmitt

(4) Jacques Derrida

(5) Question not attempted

01



23.

24,

25.

26.

01

frfafes 4 & fFa @em 3 9@ H
Gfeum T # ITEefd % 9 W ==l %
SNH Ig GeieE sega e 6 swugufa
=1 Tt Tyufa & ar € v s ol |
foran ST =nfEe ¢
(1) . ue. feR
(2) Hewe |rgeett
(3) +.8. w8

(4) SIS

L
(5) 3w =T EEé

Ve FaTe AT i agaa & fedt o
BT AT & 1Y ! HEEN & HYR
W IGF TE A @R T w5
Fex! U BT 8, o Heis Ao g 39
e ¥ fore wite Y whiran wra & |fem
% fra argw0e % aga Puff & T8
27

(1) =g 317 (1)

(2) 3<% 317 (2)

(3) 3T=\< 145 (1) (31)

(4) 31T 145 (1) (3)

(5) e

frafofaa & @ fran ofda &1 R
“GUHA’ AT R ?

(1) gieht (2) =i uwA
(3) W 4) fss
(5) I I

B e ——

23,

24,

25.

26.

Who among the following scholars::
has given the notion of “equaliberty” ?

(1) Alex Honneth

(2) Etienne Balibar

(3) Chantal Mouffe

(4) Ernesto Laclau

(5) Question not attempted

Who among the following members
has moved an amendment during
the discussion on the office of the
Vice-President in the Constituent
Assembly of India, that the ‘Vice-
President should be elected at the
same time and in same manner as
President’ ? i
(1) B.L. Mitter

(2) Muhammad Saadulla

(3) K.T. Shah

(4) Jai Narayan Vyas

(5) Question not attempted

When the Supreme Court receives a
reference from the President to
investigate the removal of the
chairman of any public service
commission from his office on the
ground of misbehavior, the
procedure for inquiry for this purpose
by the Supreme Court is prescribed
under which Article of the
Constitution of India ?

(1) Article 317 (1)

(2) Article 317 (2)

(3) Article 145 (1) (j)

(4) Article 145 (1) (f)

(5) Question not attempted

Who among the following considered
‘might’ as the basis of power ?

(1) Trotsky (2) Lord Acton
(3) Rowe (4) Bierstedt

(5) Question not attempted




27. wsgEe “gEg grn s et faftr grooar

28.

.. uf fawea g

29.

3% e & fefafes & @
Hfyum G afifEm gw wRa %
Hiqae % I 49 § = wia e
T ?

(1) 74

(3) 423

) 3G I

yRd dfqam & fefafes @ @ fag
IFTe/ W ¥ wed % e wwg & A1
Hel 7 ORIy Sg9a (H9g % T | ht
Pl FGHIAT I GgHT 3T HeA & TR
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fourTse g gEEda it Evad
B g ?

(i) FT=VT 279A

(i) R VI 1 A V

(iii) 1T=BT 162

(iv) =g 71

(2) 243
(4) 444

a1y
(1) 3= (i), (ii) 3 (iii)

(2) = (ii), (iii) 3R (iv)

(3) = (i), (i) 3R (iv)

(4) (i), (ii), (iii) 3R (iv)

(5) 3rFid ¥

Frafefea @ @ # @1 yra & dfaam &
TG 51A T A & Teeh AT 1
HfETE Fied T8 Saa TR ?

(1) TR et & gfa g=

(2) TF-TH = ufq T

(3) Tg-Tia & fq g

(4) dfum 3tk 35 rrew! & ufe @

(5) igaRd w

=
|
|
|
|
|
|
|
l
l
|
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27. By

28.

29.

which of the following
Constitutional Amendment Acts the
terminology “declared by or under
law made by Parliament” has been
inserted in the Article 49 of the
Constitution of India ?

()7 (2) 24t

(3) 428 (4) 44n

(5) Question not attempted

Amendment of which of the following
Articles/Parts of the Constitution of
India requires ratification by the
legislatures of not less than one-half
of the states, in addition to a special
majority (a majority of the total
membership of each house of
Parliament and a majority of two-
thirds of the members of the house
present and voting) in both houses
of Parliament ?

(i) Article 279A

(i) Chapter V of Part VI

(iii) Article 162

(iv) Article 71

Choose the correct option :

(1) Only (i), (ii) and (iii)

(2) Only (ii), (i) and (iv)

(3) Only (i), (ii) and (iv)

(4) (i), (ii), (i) and (iv)

(5) Question not attempted

Which of the following is not referred

by the Article 51A of the Constitution

of India. as a mandatory duty of

every citizen of India ?

(1) Respect towards National Flag

(2) Respect towards National
Anthem

(3) Respect towards National Song

(4) Respect towards the
Constitution and its ideals
(5) Question not attempted
01
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|
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30. Consider the following statements

31.

about the ‘State Finance

Commission’ :

Statement (i) : Under Article 243 I of
the Constitution of India, a Finance
Commission is constituted by the
Governor to review the financial
position of Municipalities.

Statement (i) : The Finance Commission
makes its recommendations to the
state government, and the state
government presents these
recommendations before Parliament.

Which of the above statement/s

is/are correct ? :

(1) (i) only

(2) (ii) only

(3) Both (i) and (ii)

(4) Neither (i) nor (i)

(5) Question not attempted

Which of the following statement/s
is/are not correct about the election

- process of the President of India ?

(i) As per the Constitution, the
Secretary General, Lok Sabha is
only appointed as the Returning
Officer, by the Election
Commission of India.

The ballot papers for elected
members of both Houses of the
Parliament are pink in colour.
Electors are at liberty to vote or
not to vote at the Presidential
election as per their own free will
and choice so political parties
cannot issue any direction or
whip.

Choose the correct option :

(1) (i) and (ii) only

(2) (ii) and (iii) only

(3) (i) and (iii) only

(4) (i), (ii) and (iii)

(6) Question not attempted

(ii)

(i)
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32. Match List-I with the List-Il :

33.

List-1 List-1l
(Incidents) (Year)
(i) Afro-Asian (a) 1974
~ Conference
(i) India’s first nuclear (b) 1979
test
(iii) Panchsheel (c) 1954
Declaration
(iv) Atal Bihari Vajpayee’s (d) 1955
visit to China as

External Affairs Minister
Choose the correct answer with the
help of codes given below :
(i) (i) (i) (iv)
(1) (¢) (@) (d) (b)
(2) (d) (@) (c) (b)
() (c) (b) (d) (a)
(4) (c) (b) (a) (d)

(5) Question not attempted

Consider the following statements
regarding recent state visit of Prime
Minister Narendra Modi to Maldives,
during this visit :

(I) Agreement for an LOC of INR
4850 crores to Maldives is
signed.

(I) Terms of reference of the India —
Maldives free trade agreement
(FTA) is signed.

(1) Network-to-Network Agreement
between India’s NCPI
International Payments Limited
(NIPL) and Maldives Monetary
Authority (MMA) on UPI in
Maldives is signed.

Choose the correct answer :

(1) Only (I) and (ll) are correct.

(2) Only (1) and (lll) are correct.

(3) Only (II) and (lll) are correct.

~(4) (D), (1) and (lII) are correct.

(5) Question not attempted
01
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34,

35.

Which among the following pairs is -

not correctly matched regarding UN

specialized agencies and their

headquarters ?

(1) The Food and Agriculture
Organization (FAOQ) -
Washington DC, USA

(2) World Intellectual  Property.
Organization (WIPO) — Geneva,
Switzerland

(3). International  Civil  Aviation
Organization (ICAQ) — Montreal,
Canada

(4) International - Maritime

Organization (IMO) — London,

United Kingdom
(5) Question not attempted

Match List-l with List-Il and select
the correct answer by using the
codes given below the lists :

List-I (Name of
Joint Military List-Il (Countries)

Exercise)

A. SLINEX i. India-China
B. HANDIN  ii. India-

HAND Seychelles
C. EKUVERIN iii. India-Sri Lanka
D. LAMITIYE iv. India-Maldives
Codes : '

A.Bi C. D
@) i i i v
(@)l i o
@i vl
4) i il v
(5) Question not attempted
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36.

37.

38.

39.

Who divided Sociology into two
major sections : Systematic and
General Sociology, and Historical
Sociology ?

(1) Karl Mannheim

(2) Karl Marx

(3) Karl Popper

(4) Karl Polanyi

(5) Question not attempted

In which of his book has ‘Robert

Bierstedt’, enlisted characteristics of

Sociology ? '

(1) The Social Order

(2) American Sociological Theory

(3) Power and Progress : Essays on
Sociological Theory

(4) Cultural Sciences

(5) Question not attempted

Who said “Society is a cooperation,
crossed by conflict” ?

(1) C.H. Cooley

(2) C.W. Mills

(3) Max Weber

(4) Maclver & Page

(56) Question not attempted

From which of the following year

"Indian Peacekeeping Forces were

involved in the United Nations
Mission in South Sudan (UNMISS) ?
(1) 2008

(2) 2010

(3) 2012

(4) 2014

(5) Question not attempted

01
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40.

41.

42.

43.

‘Who used the concepts of ‘Ascribed

and Achieved’ to refer to the
distinction of statuses ?

(1) R. Bierstedt

(2) G.H.Mead

(3) E. Goffman

(4) R. Linton

(5) Question not attempted

Who among the following is not the
supporter of Cyclical Theory of
Social Change ?

(1) P.A. Sorokin

(2) V. Pareto

(3) R. Dahrendorf

(4) A. Toynbee ;
(5) Question not attempted

Who is associated with the concept
of Class Consciousness ?

(1) Talcott Parsons

(2) Kingsley Davis

(3) Anthony Giddens

(4) Karl Marx ]

(5) Question not attempted

Who had propounded the “Racial
theory” of origin of caste ?

(1) Risley

(2) Senart

(3) Nesfield

(4) Hutton

(5) Question not attempted

Which of the following pair is not
matched correctly ?

(1) Charles Ellwood - Vertical
Group
(2) Dwight Sanderson — Delegate
Group
(3) F.H. Giddings — Genetic
Group
(4) Lester Ward — Voluntary
Group

(5) Question not attempted
= |




45, .F. IWE I gnueierdr % fg amam | 45. Which dimension of communalism

1 g el e o 7 was not suggested by T.K. Oommen ?
(1) guHamETS (1) Secessionist
(2) veTTEaTE (2) Retreatist
(3) SATCHATEHIUETE! (3) Assimilationist
(4) TR-HeamrEnr (4) Non-welfarist
(5) Fgaia wwA (5) Question not attempted

46. fifrw = form %R =t el & fere wg@ | 46, Which factor is not listed by Gillins
&9 & Ieerh geftag 7 R g 7 as primarily responsible for poverty ?
(1) S S (1) Increasing population
(2) =afs sht sremefdT (2) Incapacity of the individual
(3) witeget FTepfcreh Rl (3) Unfavourable physical conditions
(4) & 1 Plawm (4) Maldistribution of wealth
(5) TRy (5) Question not attempted

47. “yeeR farwr afufm” fem of @wp | 47. In which year “Prevention of

B3 7 Corruption Act” was enacted ?
(1) 1962 (2) 1974 wppe (1) 1962 (2) 1974
(3) 1978 (4) 1988 -:" (3) 1978 (4) 1988
(5) Igaid g (5) Question not attempted

48. fru fom & ‘fava wgw feow & ww & | 48. Which day is celebrated as ‘World
AT AT S 7 AIDS Day’ ?
(1) 3T 18 (2) faam=T19 (1) April 18 (2) September 19
(3) TR 4 (4) femwar 1 (3) October4 (4) December 1
(5) I A

|
|
!
|
49, SifeaTe % FHH HH & U FA=rdT % 49. Who suggested that to eradicate
|
|
l
!
!

(5) Question not attempted

faarg =t 3t Ifes i sH=—T ST casteism inter-caste = marriages
afen ﬁgsna%iﬁﬁtn 5 should be made more popular ?

; (1) Yogendra Singh
(1) Izfie (2 Shww g3 2) G.S. Ghurye
9. sifam (4) o.uH. surfean (3) M.N. Srinivas
oL gk (4) K.M. Kapadia
(5) it e (5) Question not attempted
=] 18 01
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50.

51.

52.

53.

01
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I i " ?

(1) S |HR  (2) g@H

(3) AfeFEERt  (4) TER

(5) TG T

(1.7 39 % 3FER) .
-1 1 Tl § e it qwn g 5
= fow 7T wE H1 ITAT F L W FHT
T ;
gl
A. ud
B. ¢
C. &M
D. Hqi&
S :

gl
(i) ¥==1¢
(i) s
(iii) Afeepan
(iv) Tfe

A B oGP
(1) @) (i) i) (iv)
(2) (i) (v) (i) ()
(3) (i) (i) () (iv)
@) (i) @) (v) (i)
(5) IrgaRa S

Torm oot 1 zamew & (fger) ==& @ St
27

(1) =T

(3) W
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E.' Ky

(2) @
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50.

51.

52.

In which ashrama was there an
arrangement to repay Dev Rina,
Rishi Rina and Pitri Rina ?

(1) Vanaprasthashrama

(2) Brahmacharyashrama

(3) Grihasthashrama

(4) Sannyasashrama

(6) Question not attempted

According to whom “Religion is a
mode of action as well as system of
belief and a sociological
phenomenon as well as a personal
experience” ?

(1) James Frazer (2) Durkheim

(3) Malinowski (4) Tylor

(5) Question not attempted

(According to P.N. Prabhu)
Match List-1 with List-ll and select
the correct answer by using the
codes given below the lists :

List-1 List-Il
A. Dharma (i) Desires
B. Artha (i) Wealth
C. Kama (iii) Morality
D. Moksha (iv) Salvation
Codes :

A B:s Ciisl
(1) (@) (i) (i) (v)
(2) (i) Gv) (i) ()
(3) (i) (i) (1) (iv)
(@) (i) @) (v) (i)
(

5) Question not attempted

. Which Varna is not regarded as

twice born (Dvija) ?

(1) Brahmin (2) Kshatriya
(3) Vaishya (4) Shudra
(5) Question not attempted

SR B SN B



54.

55.

56.

57.

fre ofonfye formn, “ofem =i &t
IfRr T -9 ) e w3
g &9 | T i wrh dhama g
IRAITYA T aE 2 7

(1) TR I (2) A
(3) g wEEe  (4) Pifem @ fifem
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54. Who has defined, “The family is a

55.

56.

57.

group defined by a sex relationship
sufficiently precise and enduring to
provide for the procreation and
upbringing of children” ?

(1) Maclver and Page

(2) Burgess and Locke

(3) Horton and Hunt

(4) Gillin and Gillin

(5) Question not attempted

Who defined Public Administration
as ‘What and How of Government’ ?

(1) L.D. White

(2) Robert T. Golembiewski
(3) Woodrow Wilson

(4) Marshall E. Dimock

(5) Question not attempted

Who coined the theory of ‘Locus and
Focus’ for the nature of Public
Administration ?

(1) Robert T. Golembiewski
(2) Marshall E. Dimock

(3) L.D. White

(4) Herbert Simon

(5) Question not attempted

Who has defined, “Marriage is an
institution admitting men and women
into family life” ?
(1) K.M. Kapadia
(2) E. Bogardus
(3) H.R. Rivers
(4) E. Westermarck
(5) Question not attempted
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58.

59.

60.

61.

“Administration has to do with getting
things done; with the accomplishment
of defined objectives” — This reflects to
which approach ?

(1) Narrower view of public
administration

(2) Integral view of  public
administration

(3) Wider view of public
administration

(4) Managerial view of public

administration
(5) Question not attempted

How many types of authority did Max
Weber describe ?

(1) :5 (2) 3

3) 4 4) 7

(5) Question not attempted

Who suggested the concept of
“Gang Plank” ?

(1) Luther Gulick

(2) Henri Fayol

(3) Max Weber

(4) Lyndall Urwick

(6) Question not attempted

According to Minnowbrook
Conference lll, what concept was
introduced to address the lack of
coordination among government
institutions ?

(1) Privatisation

(2) Inter-operability

(3) Artificial Intelligence

(4) Bureaucratic restructuring

(5) Question not attempted
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62.

63.

64.

65.

In the managerial activities given by
Fayol, what is the full form of the
third ‘C’ in POCCC ?

(1) Command

(2) Control

(3) Coordination

(4) Communication

(5) Question not attempted

Who proposed the ‘ERG’ theory of
motivation ?

(1) Victor H. Vroom

(2) Frederick Herzberg

(3) Clayton Alderfer

(4) Douglas McGregor

(5) Question not attempted

Who among the following is the
author of the book ‘Work and
Motivation’ ?

(1) Abraham Maslow

(2) Douglas McGregor

(3) Victor H. Vroom
(4) Chris Argyris
(5) Question not attempted

Which of the following are factors
that affect the ‘Span of control’ ?

(i) Function (i) Personality
(iii) Time (iv) Place

Choose the correct answer from the
codes given below :

(1) (i) and (ii) only

(2) (i) and (iii) only

~(3) (ii) and (i) only

(4) (i), (i), (iii), (iv)

(5) Question not attempted
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67.

68.
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Herbert A. Simon did not include
which of the following steps in the
decision-making process ?

(1) Intellectual process

(2) Design process

(3) Choice process

(4) Research process

(5) Question not attempted

In which model of communication
was the concept of “Noise”
introduced for the first time ?

(1) Berlo’s SMCR Model

(2) Lasswell's Model

(3) - Shannon-Weaver Model

(4) Schramm’s Model

(5) Question not attempted

Which one of the following was NOT
a main area covered in the reports of
the First Administrative Reforms
Commission (ARC) ?

(1) Railways

(2) Post and Telegraphs

(3) Higher Education

(4) Life Insurance Corporation

(5) Question not attempted

Which of the following is not one of
the 7-S’s suggested by J.B. Watson
to explain the difference between
management and leadership ?

(1) Strategy (2) Selection

(3) Style (4) Skills

(5) Question not attempted
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70.

71.

72.

73.

In which Report of the Second
Administrative Reforms Commission,
conceptual structure of
e-Governance and the national
e-Governance plan and knowledge
management has been discussed ?
(1) Ninth Report

(2) Tenth Report

(3) Eleventh Report

(4) Twelfth Report

(5) Question not attempted

Which section of the RTI Act
mandates suo moto (proactive)
disclosure by public authorities ?

(1) Section 2(h)

(2) Section 18

(3) Section 4(1)(b)

(4) Section 25(5)

(6) Question not attempted

In which Report did the First
Administrative Reforms Commission
(ARC-I) recommend the setting up of
the institutions of Lokpal and
Lokayuktas ?

(1) Report on District Administration

(2) Report on Citizen-Centric
Governance

(3) Report on  “Problems of
Redressal of Citizens'’
Grievances”

(4)
®)

The creation of the office of the
Lokpal was first recommended by
the

(1)

Report on Ethics in Governance -
Question not attempted

National Police Commission

(2) States Reorganization

: Commission

(3) First - Administrative Reforms
Commission

Inter-State Council
Question not attempted

(4)
®)
01
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74,

75.

76.

77.

78.

Rit is not

(1) An eternal law

(2) An universal law

(3) An inexorable law

(4) A legislative law

(5) Question not attempted

According to the ancient concept of
Rinatray

(1) Rinas are optional.

(2) Rinas are non-repayable.

(3) Rinas enjoin certain duties.

(4) Non-repayment of Rinas may-
invite legal action against
defaulter.

(5) Question not attempted

Apara Brahman is :

(1) Indeterminate (2) Unqualified
(3) Determinate (4) Infinite

(5) Question not attempted

According to Geeta, Nishkama-

karma implies

(1) Renunciation of action

(2) Renunciation of the fruits of action

(3) Renunciation of the desire of
fruits of action

(4) Purposeless performance of action

(6) Question not attempted

The Nasdiya Sukta, concerning the
Origin of Universe, is found in

(1) Mahayan Sutra

(2) Bhagwati Sutra

(3) Vedas

(4) Bhagwad Geeta
(5) Question not attempted
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79.

80.

81.

82.

Buddhist eight-fold path leading to
liberation does not include :

(1) Conduct

(2) Knowledge

(3) Devotion

(4) Meditation

(5) Question not attempted

What is correct about Gandhian
philosophy ?

(1) Gandhi introduced the concept
of truth in Indian thought.
Gandhi alone was
practitioner of non-violence.
Satyagraha presupposes non-
violence.

God is truth, therefore an atheist
may adopt violent means.
Question not attempted

(2) the

(3)
4)
®)

The Socratic method primarily relies
on:

(1) Lecturing

(2) Storytelling

(3) Dialectical Questioning

(4) Group Meditation

(5) Question not attempted

According to Jainism, when karmic
particles actually begin to flow
towards the soul, is called as :

(1) Ashrva

(2) Nirjara

(3) Liberation

(4) Agam

(5) Question not attempted
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83.

84.

85.

86.

87.

Who of the following philosophers
proposed Hedonisﬁc Calculus ?

(1) J.S. Mill (2) Bentham

(3) Sidgwick (4) Kant

(5) Question not attempted

Who is the propounder of qualitative
utilitarianism ?

(1) J.S. Mill

(2) Bentham

(3) Henry Sidgwick

(4) Kant

(6) Question not attempted

According to Kant, which one of the
following is not a postulate of
morality ?

(1) Existence of God

(2) Man’s emotional nature

(3) Immortality of Soul

(4) Freedom of Will

(5) Question not attempted

Freedom of Will is inconsistent with
(1) Capacity to act

(2) Knowledge and purpose
(3) Presence of alternatives
(4) Fatalism

(5) Question not attempted

Who of the following is associated
with method of Doubt ?
(1) Sidgwick (2) Descartes
(3) Rashdall (4) Aristotle
(5) Question not attempted
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88.

89.

90.

Intellectual midwifery is associated
with

(1) M.K. Gandhi (2) Socrates

(3) Aristotle (4) J.S. Mill

(5) Question not attempted

The purusa is the eternal,
inactive, immobile, and immutable
self of all.

(1) Kshara (2) Akshara

(3) Brahma (4) God

(5) Question not attempted

Two statements are given below
about the nature of social science :
(A) Social science subject draws its

contents from several social
sciences.

(B) Social science subject deals
with man, their relations with
other men and their
environment.

Which of the following options is
correct ?

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.

(3) (A)is true, but (B) is false.

(4) (B)is true, but (A) is false.

(5) Question not attempted

What is the main objective of the

deterrent theory of punishment ?

(1) To take revenge

(2) To rehabilitate the criminal

(3) To discourage both the offender
and others from committing crimes

(4) To reform the offender

(5) Question not attempted
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93.

94.
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Which of the following statement
is not correct about the importance

of correlation in social science

subject ?

(1) It makes the facts easier to
understand.

(2) It realises the fragmentation of
knowledge. :

(3) It reduces the burden of
curriculum.

(4) It provides practical application
of knowledge.

(5) Question not attempted

If a teacher is explaining the topic
‘Consumer Awareness’ by involving
concepts from economics,
mathematics and language, which
approach of correlation is being

‘applied by him ?

(1) Segregation approach

(2) Interdisciplinary approach
(3) Disciplinary approach

(4) Diversified approach

(5) Question not attempted

Students
democratic values

the
the
teaching-learning process in a social

conceptualizing
through

science class. According to Bloom
taxonomy, which of the following
objective is fulfilled in this process ?
(1) Receiving

(2) Organization

(3) Synthesis

(4) Evaluation

(5) Question not attempted
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95.

96.

e

Tiar

Which of the following is not an

advantage of problem solving

method ? ‘

(1) It develops the power of critical
judgement.

(2) It requires too much reference
material, museum, library and
different types of information
centres.

It tends to develop initiative and -

- responsibility in students.

It develops the traits of open-
mindedness and tolerance in
students.

(5) Question not attempted

(4)

Which of the following are not the
characteristics of the ‘Formal group
plan’ among the various forms of
social recitation method used for
teaching social sciences ?

(@) In this form, students can freely

express their ideas and
suggestions without need of any
permission.

(b) There is no systematic plan in
this.

(c) Students discuss the determined
problems.

(d) Students take action according
to the fixed rules.

Choose the correct code :

(1) (a)and (b)

(2) (b)and (c)

(3) (c)and (d)

(4) (a)and (d)

(5) Question not attempted
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98.

99.

According to the Edgar Dale’s ‘Cone

of experience’, which one of the

following statement is correct

regarding the teaching aids ?

(1) Still pictures are more effective
than exhibits.

(2) Demonstrations are less
effective than motion pictures.

(3) Contrived experiences are more
effective than dramatized
experiences.

(4) Television is less effective than
the visual symbols.

(5) Question not attempted

A teacher is planning to explain the
internal structure of the government
bodies, she/he should use which one
of the following kind of chart as
instructional support material ?

(1) Tabulation

(2) Organizational

(3) Relationship

~ (4) Classification

(5) Question not attempted

When a social science teacher asks
students to find solutions to pollution
control, the students give
suggestions and the teacher makes
a list on the blackboard and then
summarizes all the arguments
emphasizing the importance of
pollution control.

In this case which method is used by
the teacher to teach the lesson on
pollution control in the class ?

(1) Problem Solving

(2) Brain Storming

(3) Social Recitation

(4) Project

(5) Question not attempted
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100.

101.

Why are the humanistic qualities
needed for a social science teacher ?
(1) To reduce workload

(2) To ensure scientific experiments
in class

(3) To help students grow with
the feeling of international
understanding and world
solidarity

(4) To memorize facts easily

(5) Question not attempted

Match the following Teaching—

Learning materials of Social Science
with their purpose :

Teaching-Leamning Purpose
Material :

(a) Globe (i) to show
relationship of
time with

, events

(b) Model (ii) to show the
land masses
in proper
positions

(c) Pie-graph (iii) to show a
large object in
a reduced size

(d) Chronological (iv) to show the

chart component
part of a whole
Codes :
(@ (b) (c) (d)
(1) @) Gv) (i) (iii)
(2) (i) (i) (v) (i)
() (v) () (i) (i)
(4) (i) (@) @) (iv)

(5) Question not attempted
01
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103.

102. Which statement is not recommended

by National Curriculum Framework
(NCF) 2005 for social science at
secondary level ?

(1) The learners should be initiated
into a deeper understanding for
the social and economical
challenges of nation.

Instead of world’s history, India’s
rich and varied past should be
taught.

Geography should be taught for
critical appreciation for
conservation of environment.

(2)

3

(4) In political science, the focus
should be on philosophical
foundations of Indian

Constitution.
(5) Question not attempted

Which of the following is not a
component of unit plan of social
science ?

(1) Division of sub-units

(2) Formation  of introductory
questions
Uit (3) Determination of instructional

objectives

(4) Teaching methods and materials
related decisions

(5) Question not attempted

104. Social sciences curriculum should be

correlated with the past and the
present that will enable children to
understand their environment. This
principle of curriculum construction is
directly related to which one of the
following ?

(1) Integration

(2) Learning by doing

(3) Flexibility

(4) Motivation

(5) Question not attempted
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105.

106.

107.

Which of the following is not a step
related to Herbartian five step
system of lesson plan ?

(1) Introduction

(2) Presentation

(3) Generalization

(4) Reporting

(5) Question not attempted

Which of the following type of
question is not suitable to evaluate
the achievement of comprehension
objective under cognitive domain ?
(1) Translation Questions

(2) Interpretation Questions

(3)' Extrapolation Questions

(4) Recognition Questions

(5) Question not attempted

Which of the following statement is

not correct about unit plan ?

(@) It is based on principles of
behaviourism.

(b) The concepts are related to one

another within a unit.

Skinner's assumption is that

students learn better, if the

content is provided in a whole.

The lesson plan forms the basis

of unit plan.

Choose the correct code :

(1) (a)and (d)

(2) (a), (c)and (d)

(3) (b)and (c)

(4) (b), (c)and (d)

(5) Question not attempted
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v

Which of the following is an example

of blueprint application in

assessment design ?

(1) Random selection of essay type
questions

(2) Choosing difficult questions only

(3) Asking students to create their
own test

(4) Mapping each question to
learning objectives and content
areas

(5) Question not attempted

Which one of the following statements
is correct about the test items ?

(1) Estimation of reliability index is
difficult in essay type tests.

(2) In objective type tests scoring
procedure is highly influenced
by the evaluator.

(3) Validity co-efficient is estimated
easily in essay type'tests.

(4) Essay type tests can be easily
standardized.

(5) Question not attempted

Which of the following evaluation
technique is not appropriate for
evaluation of affective objectives ?
(1) Interest inventory

(2) Practical examination

(3) Attitude scale

(4). Observation technique

(5) Question not attempted
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Which of the following statement is

not correct ?

(1) Natural powers are the centre of
Vedic Religion.

(2) The idea of polytheism and
monotheism is mentioned in
Vedic Religion. :

(3) In the Rig Vedic period, Varuna
is the nurture of morality.

(4) ‘Purandar’ is not a Rig Vedic
-God.

(5) Question not attempted

Which of the following fact about

Buddhism is false ?

(1) Gautam Buddha realized the
principle of ‘Pratityasamutpada’
in Sambodhi.

(2) Mahatma Buddha came firstly
Rishipattana from Uruvela.

(3) After attaining enlightenment
Mahatma Buddha gave his
sermon for the first time in
Uruvela regarding suffering, its
causes and its solutions.

(4) ‘Dharmachakrapravartan’ is the
name given to the preaching
given to Brahmin ascetics.

(5) Question not attempted

From which of the following
Archaeological site a dead body
buried in a wooden box is found ?
(1) Surkotada

(2) Lothal

(3) Rangpur

(4) Harappa

(5) Question not attempted
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114.

115.

116.

According to Buddhist texts, who

was Ashoka’s Prime = Minister
(Agramatya) ?

(1) Radhgupta (2) Tishya

(3) Kunal (4) Mahendra

(

5) . Question not attempted

Read the following statements about

Amaravati stupa and choose the

correct option : :

A. ‘Ayaka’ pillars were installed in
the stupa.

B. The dome (‘Anda’) of the stupa
was decorated with marble.

Codes :

(1) Only A is right.

(2) Only B is right.

(3) Both A and B are right.
(4) Both A and B are wrong.
(5) Question not attempted

Which of the following texts written
by Varahmihira is not in Jatak-
Skandha ?

(1) Brihajjatak

(2) Brihatsamhita

(3) Brhadvivahapatal

(4) Brhadyaatra

(5) Question not attempted

7. Which doctrine shows intellectual
tolerance in Jainism ?

(1) Pudgal

(2) Samyak Darshan

(3) Aparigraha

(4) Syadvad/Anekantvada

(5) Question not attempted
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118.

119.

Choose the incorrect pair among the

following :
Monuments Place

(1) Mosque of — Panipat
Kabulibag

(2) Palace of Turki - Fatehpur
Sultana Sikri

(3) Nagina Mosque - Agra fort

(4) Naulakha — Allahabad
Palace fort

(5) Question not attempted

Match the achievements of Shivaji

with their concerning years and
select the correct option.

Achievements Year
(A) Second lootof (i) October
Surat 1670
(B) Possession of (i) November
Panhala 1675
(C) Surrender of (iii) March
Ponda to Shivaji 1673
(D) Conquest of (iv) May 1675

Satara
Options :

(A) (B) (C) (D)
(1) @) i) (v) (i)
(2) () (@) (i) (iv)
(3) (i) (v) () (i)
(4) (i) (v) (i) (i)

(5) Question not attempted

Who is the author of the poem
“Chaitanya Charitamrit” which
mentions the life and philosophical

- thoughts of Chaitanya ?

(1) Jagannatha Mishra

(2) Ishwar Puri

(3) Murarigupta

(4) Karna Purak

(5) Question not attempted
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121.

122.

123.

In which session did the Congress
present the demand for self rule in
its resolution for the first time ? |

(1) Calcutta Session 1906

(2) Allahabad Session 1892

(3) Madras Session 1887

(4) Bombay Session 1904

(5) Question not attempted

Which of the following was not a part

of Non-Cooperation Movement ?

(1) Boycott of courts

(2) Boycott of foreign clothes and
goods

(3) Boycott of payment of salt tax

(4) Boycott of government schools

(5) Question not attempted

Which of the following fact is false
with reference to Awadh (Oudh) in '
the revolution of 1857 A.D. ?

(1) The British were defeated by the
rebels in the Battle of Chinhat in
Lucknow.

Henry Lawrence died near
Lucknow Residency.

In November, 1857 A.D. James
Outram was made the
Commander-in-Chief of the
Company’s army in India.
Havelock of the British army that
came to Lucknow from Kanpur
had died.

(5) Question not attempted
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126.

531

124. Which of the following revolutionary

began hunger strike in Lahore Jail
and eventually died in September
1929 ?

(1) Shachindra Nath Sanyal

(2) Jatindra Nath Das -
(3) Manmath Dasgupta é!!'.i
(4) Barindra Kumar Ghosh ;
(5) Question not attempted

Who among the following were
related to Chatagong Armoury raid ?

(i) Preetilata Waddedar
(ii) Shanti Ghosh
(iii) Kalpana Dutta

(iv) Bina Das

Choose the correct answer :
(1) (i), (iii) -(2) (i), (iv)
(3) (i), (i) (4) (iii), (iv)

(5) Question not attempted

Consider the following statements
about Civil Disobedience Movement :

A. Protest against British monopoly
of salt.

B. This movement got international
attention.

C. It was the first nationalist activity
in which women participated
enthusiastically.

D. The capitalist class and
industrialists did not participate
in the Civii Disobedience
Movement.

Which of the statement/s given
above is/are correct ?

(1) A and B are correct.

(2) D and C are correct.

(3) A, B, C are correct.

(4) Only A and D are correct.
(5) Question not attempted
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127.

128.

129.

130.

The Boston massacre in America
occurred during a protest against
which of the following Act ?

(1) Quartering Act

(2) Townshed Acts

(3) Stamp Act

(4) Green Will Act

(5) Question not attempted

Under whose leadership among the
following the Provisional Government
was established in Russia in March
1917 ?

(1) Georgy Lvov (2) Kerensky

(3) Trotsky (4) Lenin

(5) Question not attempted

The ‘sidereal day’ has a period of —
(1) 24 hours

(2) 23 hours, 56 minutes and
4 seconds

(3) 364 days, 8 hours and
26 minutes

(4) 366 days
(5) Question not attempted

Consider the following statements
and choose the correct option :

A. Subhash Chandra Bose
established a provisional
government in Singapore on 21st
October 1942,

B. Subhash Chandra Bose’s Indian
National Army hoisted the
Tricolor flag at Moirang.

Codes :

(1) Only A is right.

(2) Only B is right.

(3) Both A and B are right,

(4) Both Aand B are wrong.

(5) Question not attempted
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132.

131. On the basis of velocity of the

following seismic waves which

among the following is/are correctly
matched ?

A. P-Swaves - Maximum
velocity
B. P*-S*waves - Medium
velocity
C. Pg-Sgwaves - Minimum
velocity

Select the correct answer using
codes given below :

Codes :

(1) A,BandC

(2) Only A

(3) AandC

(4) BandC

(5) Question not attempted

Consider the following statements
and select correct answer using
codes given below :
A. The equator
parallel. :
The length and distances of all
parallels decrease from equator
to poles.

Parallels intersect meridians at
right angles.
66%2° south
Antarctic circle.
Codes : ;
(1) A,B,CandD
(2) A,BandC

(3) B,CandD

(4) A,CandD

(5) Question not attempted

is the longest

B.

C.

D. latitude is the
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133.

134,

135.

Kilimanjaro is an example of which
type of volcano ?

(1) Extinct

(2) Strato

(3) Active

(4) Dormant ; _

(5) Question not attempted

The ‘Van Allen Radiation Belt' is
found at :

(1) lonosphere

(2) Mesosphere

(3) Exosphere and Magnetosphere
(4) Ozonosphere and Stratosphere
(5) Question not attempted

Arrange the following magnetic strips
of Mid Oceanic Ridge
chronological order :

A.
B.
C. Matuyama

D. Gillbert

Select the correct answer using

in the

Gauss
Brunhes

codes given below :

Codes :

(1) B,A,C,D

(2) D,A,C,B

(3) A,D,C,B

4) C,B,D, A

(5) Question not attempted




136. % & I BIR-BIC HUI HI I Tue™ &

137.

138.

139.

YT = AT g9 99 9§ 3 g
TG R :

(1) wfga gt (2) 3

(3) FEmn (4) femgfe

(5) 3G e

S G/ FE TF 9 59 209 &
T G i 3R gt SR/ E 2

A. Ul yEd g

B. gt &1 U Il

C. YTt 1 Ic5av 9

=t e T g 1 SR HT FEl I G :
T4

(1) et A (2) %5 B

(3) AsRC (4) A3mB

(5) i S

S S hl GG AT 3T a1 &
(1) 129w (2) 249w

(3) 1259 26 fire(4) 24 wve 52 fire
(5) ra T

Frfafed seAl W R Sifse qeor a&

IR 1 = AT feu e e @ i

A. Tl BT I FF W HOH G I
fesm =61 wvTfera eaT 2 |

B. HIMGiioE sa1 % Y9G & Tod I
et § e ak ferdifia & St & |

C. HNafE ¥ W *F B &
FHHITE § Sgar g |

D. et g yavmar i grft wadi i
femm St &t = fadifa gt |

%!

(1) A,B3RC (2) B,C3RD

(3) A,C3RD (4) A B, C3RD

(5) T FRH

136. The term for small ice pellets that melt

137.

138.

139.

.44

and refreeze on their way down is :
(1) Sleet

(2) Hail

(3) Mist

(4) Snow fall

(5) Question not attempted

Which factor(s) causes the Gulf
Stream to deflect eastward near
Cape Hatteras ?

A. The Westerlies

B. The rotation of the earth

C. Upwelling force of water

Select the correct answer using the
codes given below :

Codes :
(1) Only A (2) Only B
(3) AandC (4) Aand B

(5) Question not attempted

The semi-diurnal tides recur at the
interval of :

(1) 12 Hours

(2) 24 Hours

(3) 12 Hours 26 minutes

(4) 24 Hours 52 minutes

(5) Question not attempted

Consider the following statements
and select the correct answer using
codes given below :

A. The rotation of earth about its
axis affects direction of the wind..

B. Due to Coriolis force wind
deflects to right direction in
northern hemisphere.

C. The Coriolis force increases in
direct proportion to the angle of
latitude.

D. The higher the pressure gradient
lesser is the deflection in the
direction of wind.

Codes: .
(1) A,BandC (2) B,CandD
(3) A,CandD (4) A,B,CandD

(5) Question not attempted
; 01



140. Wi & fr=afefiga o 4 forg wmr/ & o ot
& aRafiar ge@ &5 IR SR 7
(1) TATIeIUE T AT % TR &
(2) ufve Toeu™
(3) vE@
(4) SHRHISH T
(5) IrgaRa w¥

frafefea # & &9 91 YRa &1 I9@ T
IEATEH T AL ?

(1) |Gt — 7T HeH

(2) wEwel et =t

(3) TSR AT TeW TN HIUM TN

(4) 9B | AMHGHT o el et Ut
(5) TG I

9ra # W&l 70 ¥ 200 .. awi a6t R
T fohH TehR & o9 I 910 & ?

(1) Iomhfes=<g TeeeER o

(2) IUERTE= yass 9

(3) IwTRiesT H a7

(4) wedE T

(5) 3T A

Frfafaa wemt w fmm Hifse aun o
IR 1 994 A1 U T¢ e & Hifre -

A. TIERE T SUST HEEUA ¢ |

B. % IANAAFE R 32 |
C. g1 I 9y fewmeer 3R IwrEvs
oo & fRua 2 |

FHeeEr R e feaew @
FafRE R |

141.

142.

143.

D.

H<:

(1) A,BamCcadtg|
(2) B,C3RDu#E |
(3) FaAAICERE |
(4) ¥ C 3N D EE R |
(5) g A

01

140. In which of the following part/region
~of India the variability of rainfall is
found lowest ? .
(1) Hilly area of Nagaland and
Manipur
(2) Western Rajasthan
(3) Ladakh
(4) Coromandel coast
(5) Question not attempted

141. Which among the following is not a
major sugarcane growing area of
India ?

(1) Satluj — Ganga plain

(2) Mahanadi river valley

(3) Coastal Andhra Pradesh and
Krishna valley

(4) Black soil belt from Maharashtra

(5)

to Tamil Nadu
Question not attempted
142. In India, which type of forests are
found in regions having rainfall
between 70 to 200 cm ?
(1) Tropical Evergreen forests
<K% (2) Tropical Deciduous forests
E_i'é. (3) Tropical Thorn forests
(4) Mountain forests
(56) Question not attempted

143. Consider the following statements
and select the correct answer using
codes given below :

A. Ladakh is a cold desert.
B. Harike Dun and Nalagarh Dun
are the largest duns.

‘Valley of Flowers’ is situated in

Himachal and Uttarakhand

Himalayas.

Kanchenjunga peak is located in

Arunachal Himalayas.

Codes :

(1) A, B and C are correct.

(2) B, C and D are correct.

(3) Only A and C are correct.

(4) Only C and D are correct.

(5) Question not attempted

C.

D.



144. IEETE I=-YW ¥ F=fafea § @ =9

145.

146.

AT/ S-aTrepferat arht SR /8 7

‘A, Hig i A % FHR h gEE

(THTTg)
B. S1-TER I=H-YET
C. dicard & fwe gai= 9181 517 diet

H= fou T % 1 3T B T W H
31 Hif
%: "'I.E‘i:
(1) A BTIIC (2) FAA E‘E&E
(3) BauiC (4) AT C
(5) 3T =T
B Hl HERIH T4 QIERAd 76 H 39 g
frmafedi g
(1) & (2) =T
(3) ERTE (4) =ywt
(5) 3T ¥
T=t-| =t gEh-1l @ gafera K aun g
IR 1 994 A1 ST Y Fe | HiIT -
Ll Al
(37T ) Cec e
7%)
(A) R (i) T
e @
(B) ﬁa—meﬁa (il) ufveam sa
(C) gﬁgteﬁa (iii) At
) ﬁrmé@a (iv) wETe
A<
%l

(A) (B) (C) (D)
(1) (iv) (i) (i) (i)
(2) (iii) (@) (i) (iv)
(3) (i) (i) () (iv)
(4) (i) (i) () (i)
(5) gt
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s Yk LS TS ARSI THLARILIASS WA A LB VPR S ARSI

144. Which

145.

146.

among the  following

topographical feature/s is/are found

in the Shahabad Upland ?

A. Horseshoe type Hill (Ramgarh)

B. Dag - Gangdhar Highlands

C. Highest peak is 517 metres near
Chandwadi

Select the correct answer usmg

codes given below :

Codes :
(1) A,BandC (2) Only A
(3) BandC (4) AandC

(5) Question not attempted

Which tributary joins the Sabarmati
river from its right bank ?

(1) Sei (2) Wakal
(3) Harnav (4) Hathmati
(5) Question not attempted |

Match List-l with List-ll and select
the correct answer usmg codes |
given below :
List-1
(Steel Plants)
(A) Vijaynagar
Steel Plant
(B) Vizag Steel (ii)
Plant
(C) Durgapur
Steel Plant
(D) Bhilai Steel (iv)
Plant
Codes :
(A) (B)
(1) (iv) (iii)
(2) (i) (i)
(3) (i) (i) (i) (iv)
(4) (i) (i) (v) (i)

(5) Question not attempted

List-1l
(Location-State)
(i) Andhra
Pradesh
West Bengal

Karnataka

(iii)

Chhattisgarh

(C) (D)
(i) ()
(ii) (iv)

01




147.

148.

01

- (3) USh ST W T I R SR T

149.

150.

Frffiea § & e fr & o &
TE  SAEern  fmgea JEad en
(STOFT-2011) ?

(1) 3R (2) PR

(3) TR (4) SEer

(5) Jrgaia s

T A& A i s o se
TER ?

(1) dsfima @ TP T ® wive fman
TR |

(2) e gl T o § wmite
ST & |

TS |

(4) SR HHd IHTEH & FIUAT ht AT
I 1 Afaffre e 2 |

(5) rgufd I

fdasaaradiz ?

(1) If&@ g5 (M) = Y= § g1 +
ARAAE & TH d SHd +
HAREATE & I 3= FATY |

(2) aﬁﬁgar(w) ST % U gl —

Q;marrmm+ama°ran'§%
9TE 3 T |

(3) Eehivl {1 (M) = SHaT % T qg5T —
éaﬁésqmnmm IS *
19 3 FEM |

()\’Wﬁ"ﬁﬂﬁf(I\/‘o)-W’WF“\?EﬁT
ARAHE & @ dw wwd
TR 3 I 31 FHTY |

) AN T

|
=

l

|
TrferRaa o @ 1 |1 TSI 1 hearge |
o T R 7 3
I

l

|

|

(1) Safen —afeg &= (sfearen)
(2) T 3R T 8 (Hie)
(3) Tga 3P fvgarer & (Rreh)
(4) HTHNTG & (TN

(5) rgalid e
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147.

148.

149.

g

150

In which of the following district the
urban population sex-ratio was
lowest in Rajasthan (Census-2011) ?
(1) Alwar (2) Dholpur

(3) Ganganagar (4) Jaisalmer

(56) Question not attempted

Which of the following statement is

correct about national income ?

(1) Capital gain is included in the
national income.

(2) Capital loss is included in the
national income.

(3) Capital consumption allowance

is excluded from the national

income.

(4) Market price represent the
earnings of the factors of
production.

(56) Question not attempted

Which of the following is correct ?
(1) Reserve Money (M) = Currency in

circulation + Banker’s deposits with
RBI + Other deposits with RBI.
Narrow Money (M) = Currency

with the public Demand
deposits with banks + Other
deposits with RBI.

Narrow Money (M,) = Currency
with the public Demand
deposits with banks — Other
deposits with RBI.

Reserve Money (M) = Currency in
circulation — Banker's deposits with
RBI — Other deposits with RBI.

(5) Question not attempted

(2)

3)

(4)

. Among the following which is not a

mining area of Calcite in Rajasthan ?

(1) Ghavria Chandpur area
(Bhilwara)

(2) Raipur and Manvda area (Sikar)

(3) Rajpura and Pindwara area
(Sirohi)

(4)

(5)

Madhogarh area (Jhunjhunu)
Question not attempted
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